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B m” 32.8 23.8
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HyLavy)—rER m’ 0.6 05
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t=10mm m’ 1.4 1.0
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T BEE
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B m” - 11.2
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EKERET
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k) t 1.4 - 1.4| 25 BEYLTE
A2(BRANIBE |#EEHCo m’ 80.1 16.5 96.6
#Mico m® 17.2 2.1 19.3
E m’ 97.3 18.6 115.9
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H =
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T
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) T A
AsERERRYIBR T t=15cmLL T m 441 3.1
AsEHE R T t=10cm m’ 101.3
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t=3cm m’ 35.1
TEHEEBELT
A—FL—JL Gr-C-2B m 21.6
BRI% [ A i CofEiA m 11.9
SHEEFERIOVY 100x100 m 27.2
BEYRELT Y m’ 273 185
FIEEY m’ 8.5 55
AR (ER) m’ 6.4 3.3|42350m (#EE)
OB - 5
Asig m® 1.2 54
t 26.3 12.7
Cosk i m’ 34.0 21.8
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1. av9)—kI (24-12-40BB)

1)ffg B
BIE
28569
13713 | 14855
REE
1) = (0519 +0.614)x1/2x13.713 =
2) = (0.614+0.728)x 1/2 % 14.855 =
Em
28569
13682 | 14886
FREE
3) = (0.530 +0.615) % 1/2x13.682 =
4) = (0.615+0.731)x1/2x%14.886 =

a9 —MATE
Vi (7.768 + 7.833) x 1/2 X 0.500
V2 (9.968 + 10.018) X 1/2 x 0.500

7.768 m2
9.968 m2

7.833
10.018

3.90
5.00

m2

m3
m3

8.9
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(10

2748

633 1265 548

J

@\ 861199
53—3

©

1020

b19
JUe

0152
1049 BO

b

b01

-1-\ ?Ira___'m_—.

1129

_@

®

2125

@' |14 |
\

t=300mm

@\ 09'71199

1026

F
30180

?
524
AR
W

50253

1055 BO
1135 ‘

b

602 1296 526

(0.519 + 0.506) X 1/2 % 0.633
(0.606 + 0.605) x 1/2 % 0.302
(0.525 + 0.526) X 1/2 X 0.066
(1.027 + 1.049) x 1/2 X 1.199
(1129 + 1.129) X 1/2 % 0.548

(0.524 + 0.511) X 1/2 X 0.602
(0.611 +0.610) x 1/2 X 0.302
(0.530 + 0.532) X 1/2 X 0.097
(1.034 + 1.055) x 1/2 x 1.199
(1.135 + 1.135) X 1/2 % 0.526

AV —MMEE

V1
V2
V3
\Z
V5

(0.324 + 0.312) x 1/2 % 0.300
(0.183 + 0.184) X 1/2 x 0.300
(0.035 + 0.052) x 1/2 % 0.300
(1.245 + 1.252) X 1/2 % 0.300
(0.619 + 0.597) x 1/2 X 0.300

@ L1728 |
\

t=300mm

0.324
0.183
0.035
1.245
0.619

0.312
0.184
0.052
1.252
0.597

0.10
0.06
0.01
0.37
0.18

m2
m2
m2
m2
m2

m2
m2
m2
m2
m2

m3
m3
m3
m3
m3

0.7

m3
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S18]
2165
1924 24
1000 924
© 2 3';._ ;I °’>7
3 o S ENROR
2 |
1165
t=300mm
\r
4Rl
2154
1924 230
1000 924
R Sl o o
E{ e RO
=5 ==
1154
t=300mm
\r
=mEiE
1) = (0.728 + 0.756) X 1/2 x 1.000 = 0.742
2) = (1.354 +1.380)x 1/2x0.924 = 1.263
3) = (1.483 +1.483)x1/2x0.241 = 0.357
4) = (0.728 + 0.756) X 1/2 x 1.000 = 0.742
(5) = (1.353 +1.379) X 1/2x0.924 = 1.262
(6) = (1.482 +1.482)%x1/2x0.230 = 0.341
aVy)—MMATE
Vi = (0.742 + 0.742) x 1/2 x 0.300 = 0.22
V2 = (1.263 +1.262) X 1/2x0.300 = 0.38
V3 = (0.357 +0.341)x 1/2 x0.300 = 0.10




4)EXEE

UL
28569
W E
1500
RER
(1) = (3.761 + 3.761) X 1/2 X 28.569 = 107.448 m?2
EE
28569
REE
(2) = (3.761 + 3.761) X 1/2 X 28.569 = 107.448 m2
avy)—MAE
= 161.17 m3

V1 = (107.448 + 107.448) X 1/2 x 1.500

vV = 161.2 m3



5)[ERR
AIlE
28569

28569

4000

28569

REHE
m = (28569 + 28.569) X 1/2 X 4.000

114.276 m2

a9 —MMATE
Vi = 114.276 x 1.500

171.41 m3

1714 m3

<
I
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DhEE
RTE
28569
13713 , 14855
o E— ? = ‘ Qvf 2
RER
<1 = (0519 +0.614)x1/2x13.713 = 7.8 m2
<2> = (0.614 +0.728) X 1/2x 14.855 = 10.0 m2
&t = 17.8 m2
HH
28569
13682 , 14886
g C ? S — Qﬁ =
RER
<3 = (0.530 +0.615)x 1/2x 13.682 = 78 m2
<4> = (0.615+0.731)x 1/2x 14.886 = 10.0 m2
it = 17.8 m2
FE
SI=e=r =&
13713 14855
28569
RER
<5 = (0.519 +0.530) x 1/2 x 0.500 = 0.3 m2
<6> = (0.728 +0.731) x 1/2 x 0.500 = 04 m2
it = 0.7 m2
BROEE
17.8+17.8+0.7-0.2-0.2 = 35.9 m2

ERAIEBEERR = 02
TRt BEEREERR = 0.2
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P4l
2725
602 . 1296 526
307
<6>\ q71199
LB g ﬁ
3 20 | -
© N T 818 w© w
-
| DN 7 @
J_/\/_l_@ t=300mm
KREE
1> = (0519 +0.506) % 1/2 % 0.633
2> = (0.606 + 0.605)x 1/2 % 0.302
3> = (0.525+0.526)% 1/2%0.066
4> = (1.027 +1.049)x1/2%1.199
5> = (1129 + 1.129)x 1/2 X 0.548
6> = (0524 +0.511)x1/2x0.602
7> = (0.611+0.610)x1/2%0.302
<8> = (0530 +0.532)% 1/2%0.097
<9> = (1.034+1.055)%x1/2%1.199
10> = (1.135+1.135)x 1/2 % 0.526
1> = (1.129 + 1.135)x 1/2 X 0.300
12> = (1.748 + 1.725)x 1/2 X 0.300
ST EE = (0.100 + 0.080 + 0.080) X 0.300
[ R B 4R 43
(0.519 + 0.524) X 1/2 % 0.300
ERER R PRI [RSY

(0.501 +0.502) X 1/2 % 0.300

0.3
0.2
0.0
1.2
0.6

0.3
0.2
0.1
1.3
0.6

0.3
0.5

0.1

m2
m2
m2
m2
m2

m2
m2
m2
m2
m2

m2
m2

m2

5.7

0.2

m2

m2

0.2

0.2

m2

m2

0.2

m2



TR LB

H141
2165
1924 24]
1000 924
N I% >
i
o 8 T 23 3| 3
2 | |
‘ 1165 T
t=300mm
I
2154
1924 23D
1000 924
| I% >
of & ?$§i S
8 o 3| 2 i
2 | |
‘ 1154 T—®
t=300mm
RmEiE
1> = (0.728 +0.756) x 1/2 x 1.000
2> = (1.354+1.380)x 1/2x 0.924
8> = (1.483 +1483)x 1/2 X 0.241
4> = (0.728 +0.756) X 1/2 X 1.000
<> = (1.353+1.379)x 1/2x0.924
6> = (1482 +1482)x1/2x0230
7> = (1.483 +1.482)x 1/2x0.300
<8> = (1.165+1.154)x 1/2x0.300
S EER = 0.103%0.300
MR T 4R 53
(0.728 + 0.728) X 1/2 X 0.300
SR ER

(0.598 + 0.597) x 1/2 % 0.300

0.7
1.3
0.4

0.7
1.3
0.3

0.4
0.3

0.0

m2
m2
m2

m2
m2
m2

m2
m2

m2

=}

54

0.2

m2

m2

0.2

0.2

m2

m2

0.2

m2



&
2
bR

3761

3761

LRI £ B EERR = 0.2
TRAI LR =02

HIE
28569
o ® sk
#&
28569
& & sk
ERlmE
E| o100
1500
AlmE
F
E| o100
1500
RETE
<1> = (3.761 + 3.761) X 1/2 X 28.569 = 107.4 m2
<2> = (3.761 + 3.761) X 1/2 X 28.569 = 107.4 m2
<3> = 1.500 x 3.761 = 56 m2
<4> = 1.500 x 3.761 = 5.6 m2
&t = 226.0 m2
BHOAT
226.0-0.2-0.2 = 2256 m2



5)[E kR

ERE
4000
T ~
oL@ o §
A
4000
T ~
oL@ o §
T@E

28569

4000
4000

28569

REE
<> = 28.569 X 1.500 = 429 m2
<2> = 28569 x 1.500 = 429 m2
<3 = 4.000 x 1.500 = 6.0 m2
<4> = 4.000 x 1.500 = 6.0 m2
it = 97.8 m2
OFELL

Th—FaRE (¢ 150)
L = 042038 = 16.0 m



3. AWM
nHLaZY)—hk (18-8-40BB)

F&E
28769
]
| Y
- |
28769
]
4200
REHE
M = (28.769 + 28.769) X 1/2 X 4.200 = 120.830 m2

a9 —MMEE

\A = 120.830 x 0.100 = 12.08 m3
VvV = 12.08 m3
MR
0.385 x 0.100 x 30 = 1.16 _m3
vV = 116 m3
a5t

12.08-1.16 = 10.9 m3



YLavy)—~ B

4200

TE
28769
|?7777;7;7;77;7;7;7777?|
& Lo 3
ig,ii,ii,ifi,iiifififi,iigi
28769
=mEiE
<1> = 28.769 x 0.100 = 29 m2
<2> = 28.769 x 0.100 = 29 m2
<3 = 4.200 x 0.100 = 04 m2
<4> = 4.200 x 0.100 = 0.4 m2




4. Bi5T

BrE
1200 _ 500
T1§f 'e 20
1 1QT
o 'T‘
o g
‘ <t
il
L
Tm
30769
— — — — 8 — J— — —
o ﬁiiiiiiii‘%iiiiiiiiiﬁ o
2 \ I \ 2
™ N - S | ™
3
— — — — 8 — J— — —
30769
B RE
30.769+3.700+30.769+3.700 = 68.938 m
RIBTIKIE

68.938 X 4.400 303.3 #km2



5 T

843.6

303.4

235.0

1) HEHl
JEEI (5
Am?) |Aave(md)| V(m?)
0.0
3.6 33.9 16.95 61.0
0.5 33.9 33.90 17.0
1.7 33.9 33.90 57.6
1.6 21.9 27.90 44.6
17.9 21.9 21.90 | 3920
1.6 21.9 21.90 35.0
5.8 33.9 27.90 161.8
2.2 33.9 33.90 74.6
ait 843.6
2) BRL
BERE (/)
Am?) | Aave(md)| V(m®)
0.0
3.6 25.0 12.50 45.0
0.5 250 25.00 12.5
6.1
13.7 6.4 6.25 85.6
14.8 7.5 6.95 102.9
26.1
2.2 26.1 26.10 57.4
a&t 303.4
BER(BEEL)
Am?) | Aave(md)| V(m?)
8.3
13.7 8.4 8.35 114.4
14.8 7.9 8.15 120.6
= 235.0
3) R¥L
A= 42 x 28.8 = 121.0
4) T EbEHE- 05
V= 8436 -  (303.4/0.9) = 506.5

121.0

506.5




c A5t
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33.9m2

A
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B A AR R B

Bx

miEHE|

MBIEE V5804
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wy ¢ ug '8¢ ug e
EET T TR ]

ug °| ug |

we ey ue L1 ug °g

Tm
v

MIEE V580 4

21.9m2

A=




WiERL

b i ]
T Ll
R A=25.0m2 HER A=26. 1m2
[ (EwEE [ (EwEE

%ﬁﬁ.w

MIEE V580.4

MIEE V580.4

EELER A=8. 3m2 RELER A=7.9m2

#BER A=7.5m2
(RIRER)

(SRR ED) (SR1KER)

(AR

S
1
T-‘—’:g
® N\ MIEE v580.4
A\\Y .
%}} N\
BELER A8 a2

‘ R A=6.4m2

Tm|
— =
=}
)
=
1O
IS
=3
IS
)
=3
o
<
=
o~
o~
S S




6. RERTBHT

1) MXREAT

(SHRARITE 18 7=Y)

i N EAEMm)
L=12.5m | L=10.5m
1 Bt 7 55 35
2 T 18 15 15
3 T 5 4.1 41
4 MEL 39 0.8 0.8
5 T 10 0.6 0.6
A&t 125 105
ER (m) 42.00 1.60
M 105 4
T 1&fr | 1HERT
2) MMEE
O & 1R
HmEE | mE 3520 88 125 60.0 66,000
ma 6.80| 17 12.5 60.0 12,750
TRl
ma 1.60 4 10.5 60.0 2,520
4360| 109 81,270
Q@%KRT
wiE e =
bt T4k PSR E Y el Bt s
fE#2L | H-300x300x10x15 34.00 2 100.0 6,800| 7 mEfAl
fE#2L | H-300x300x10x15 32.40 2 100.0 6,480| 5 mEfAl
FE#2L | H-300x300x10x15 6.40 2 100.0 1,280| L R4
FE#2L | H-300x300x10x15 6.40 2 100.0 1,280| L R4
RERELET= 15,840
FERAET= 15,840
BIERA(A) FEMEE x0.22= 3,485
BIER#4(B) FEMEE x0.04= 634
XRIE= 19,959




3) RERT7h—

AE HIFLE LB (m) Toh—E|TURVUE #HEIFLE >LB=N-LB (m) 7 h—R|&TURVR(VSVNEAE| £FAE REHEE
& X5 N dB=135mm(ZEEAR) LA LS dB=135mm(ZEEAHRN) > LA=N-LA [ ZLS=N-LS Y >V=N-V R Td
(R) |[#et-mEt| BEL wiE &t (m) (m) [|#Mt-mEt| BEL RiE &t (m) (m) (m3) (m3) (kN/ZK)
128 12 22.87 3.63 0.15 26.65 26.5 285 274.44 4356 1.80 319.80 318.0 342.0 1.221 14.652 K5-6 527.2
2E% B 11 19.33 3.17 0.15 22.65 225 245 212.63 34.87 1.65 249.15 2475 269.5 1.037 11.407 K5-6 4776
&= mE Al
1B 2 22.87 3.63 0.15 26.65 26.5 285 45.74 7.26 0.30 53.30 53.0 57.0 1.221 2.442 K5-6 527.2
2E% B 2 19.33 3.17 0.15 22.65 225 245 38.66 6.34 0.30 45.30 45.0 49.0 1.037 2.074 K5-6 4776
Tl
XHSHREAR V=dB®X m1/4x LB X (1+K) K:#EEZRE(=2.2)
&5t 27 571.47 92.03 4.05 667.55 663.5 7175 30.575




RE7oHh—(BREX) HENRE

Toh—RE5H 1E% B

T h—iR& K5-6

Toh—E L=26.5m

TUH—KE N=147K

2 VST AT H= &%

SO—RFURUR K5-SSU kg 1777.104{(6 X 25.0m)+(6/2+1) X 3.5m} X 0.774kg/m X 147
[RERE D5-8 #H 42[34/ A X 14K
TFoh—AYEK K5-7V & 14118/ A x 14K
JYE K5-W #H 84| S AR X 14K
Foh—TL—hk AP19-74-28N 54 4B/ AE X 14K
BEEY a=45" & 13|18/ A x 13K
BEEY a=45° F, KFEA5 A & UHE/ARX 1K

Toh—E5 2% 8

T h—RE K5-6

Toh—k L=22.5m

Toh—KH N=134&

£ ¥R B =R ivd H= k=1

SO—RFURUK K5-SSU kg 1418.742/{(6 X 21.5m)+(6/2+1) X 3.0m} X 0.774kg/m X 137
[IEERES D5-8 #A 39[3#H/ K x 13K
Foh—~yE K5-7V &l 13| 1El/AR x 13K
IYE K5-W #A 78| Si#4 A X 134K
Foh—TL—hk AP19-74-28N ® 13|18/ AR x 13K
SEEY a=45° 18 12|18/ A& x 12K
aEEY =45 F, KFEH5 H & HHE/ARX1EK




2-2. A2t8 5

Eity

1.a>91)—kXI (24-12-40BB)

NINSRYk
HIE
19608
3b7 9638 5115 307 4111
3780
4710 4928
) 7
1 €7,
P .'O 1 =Y ¥ > 1 v:ﬂ:v 1 m: g
- = I - <t ™M ~
© © 2
=R
€)) = (0.598 + 0.605) X 1/2 x 0.357 =
2) = (0.605 +0.707)x 1/2x4.710 =
3) = (0.707 + 0.692) X 1/2 x 4.928 =
(4) = (0.692 +0.674)x1/2%5.115 =
(5) = (1.085 + 1.086) X 1/2 x 0.307 =
(6) = (0.673 + 0.657) % 1/2 x 3.780 =
@ = (1.040 + 1.041)x 1/2 % 0.411 =
Em|
19608
346 9645 5119 307 409
3783
4757 4888
() (19 d L
[ I 7 .
2 3t 5t g L
i - e © Lo o
S 8 3
=R
(8) = (0.586 + 0.594) X 1/2 x 0.346 =
(9) = (0594 + 0.697) X 1/2 x 4.757 =

(10)
an
(12)
(13)
(14)

= (0.697 + 0.683)x 1/2x 4.888
= (0.683 +0.666)x1/2x5.119
= (1.077 +1.078)x1/2x0.307
= (0.665 + 0.650) x 1/2x 3.783
= (1.033 + 1.035)x 1/2 X 0.409

0.215
3.090
3.447
3.494
0.333
2514
0.428

0.204
3.071
3.373
3.453
0.331
2.487
0.423

m2
m2
m2
m2
m2
m2

m2

m2
m2
m2
m2
m2
m2

m2



avy)—MATE

V1 = (0.215 + 0.204) X 1/2 % 0.500
V2 = (3.090 +3.071)x 1/2 % 0.500
V3 = (3.447 +3.373)x 1/2 % 0.500
\Z = (3.494 + 3.453) x 1/2 % 0.500
V5 = (0.333 +0.331)x 1/2 % 0.500
V6 = (2,514 +2.487)x 1/2 % 0.500
V7 = (0.428 +0.423) x 1/2 % 0.500
BAHEITRZITE
FmE

, 10426 ,

{ \

( it nl
@
U
0
= (@) b St<

RETR
(1 = 0400 x 10.426
) = 0910 x 10.426

V') —MEIE

\"2l

(4.170 + 9.488) X 1/2 % 0.500

avY)—MEAEDEE

6.72+3.41

0.10
1.54
1.71
1.74
0.17
1.25
0.21

m3
m3
m3
m3
m3
m3

m3

6.72

4.170
9.488

3.41

m3

m2

m2

m3

3.41

101

m3

m3



BTE
19608
o™ o™
(o] [ee)
P ‘ 5
it
r
| Lo
/
o™
(o)
~
[ap)
1500
REHE
) = (3.783 +3.783)x 1/2x19.608 = 74177 m2
@
19608
o o™
[ee] [ee)
i ‘ o
REE
2) = (3.783 +3.783)%x 1/2%19.608 = 74177 m2
aV Y —MATE
Vi = (74177 +74177) %X 1/2 % 1.500 = 111.27 m3
VvV = 111.3 m3



ERR

ATE
19927
o
o
ke
F@
19927

|
5

19927

RETR

M = (19.927 +19.927) X 1/2 X 5.000 = 99.635 m2

aV9)—hMATE

V1 = 99.635 x 1.500 = 14945 m3
Vo= 1495 m3



2. BT

DINSRyY R
&
19608
357 9638 5115 307 4111
3780
4710 4928
1 b 7
—lle 2
2 Me—r— o5+ ——&¢ =N 3]
i = - <t ™ ~
=2 5
FE
<1> = (0.598 + 0.605) % 1/2%0.357 = 0.2 m2
<2> = (0.605+0.707)x1/2%x4.710 = 3.1 m2
<3 = (0.707 + 0.692)x1/2%x4.928 = 3.4 m2
<4> = (0.692 +0.674)%x1/2%x5.115 = 3.5 m2
<5> = (1.085 + 1.086) x 1/2 x 0.307 = 0.3 m2
<6> = (0673 +0.657)%x1/2x%3.780 = 25 m2
<> = (1.040 + 1.041)x 1/2 x0.411 = 0.4 m2
= = 13.4 m2
5E
19608
3146 9645 5119 307 409
3783
4757 4888
B @ 4
e 2
S fs—r—5 T g — =l g
= = - © Lo o
© O [Fp)
© © ©
FEH
<8> = (0586 +0.594)%x1/2x%x0.346 = 0.2 m2
<9> = (0594 +0.697)%x1/2x%x4.757 = 3.1 m2
<10> = (0.697 + 0.683)x1/2x%x4.888 = 3.4 m2
1> = (0.683 + 0.666)%x1/2%5.119 = 3.5 m2
<12> = (1.077 +1.078)x 1/2 % 0.307 = 0.3 m2
13> = (0.665 + 0.650)x 1/2x%x3.783 = 25 m2
<14> = (1.033 +1.035)%x 1/2x%x0.409 = 0.4 m2
£ = 134 m2



F@

346 9645 5119 307 3783 409
o \
S[e>= Y 16 >3\ [=<17 18>—=.\\
9638 5115 307 11
357 ' 3780
19608
=EiE
15> = (0.598 + 0.586) % 1/2 X 0.511
<16> = (0.411+0.411)x1/2%0.511
7> = (0413 +0.413)x1/2%0.511
<18> = (0.383 +0.383)x 1/2%0.511
<19> = (1.041 +1.035)%1/2%0.511

0.3
0.2
0.2
0.2
0.5

m2
m2
m2
m2

m2

1.4

m2



BHETRZITE

TE
X 10426 )
¢ _Jﬁg

\ = \ >
\3‘5{;“; T A N
{8l mE
0
o ,—"_!;—K/ Sl
o 7 ol

REE

<1> = (0910 + 0.400)x 1/2x0.514% 2

2> = 0.400 x 10.426

3> = 0.707 x 10.426

=]

? n
]
‘ 10426 ‘

BAENTIRZ T B IC R HIERRETE
<1> = (0.233 +0.306) % 1/2 % 10.426

BROEFH

|

13.4+13.4+1.4+12.3-2.8

0.7 m2
42 m2
7.4 m2

12.3 m2

2.8 m2

2.8 m2

37.7 m2



AITE
19608
. | .
2 @4| & r@ 2
]
19608
. | .
2 @4| & r@ 2
ZlmE
M
| Lo
.
®4| @ r@ 2
1534
Am
M
L
1
(ap]
®4| @ r@ 2
1534
=EE
<1 = (3.783 +3.783)x 1/2 X 19.608 = 74.2 m2
<2> = (3.783 +3.783)x 1/2 X 19.608 = 74.2 m2
<3 = 1.534 x 3.783 = 58 m2
<4> = 1.534 x 3.783 = 5.8 m2
it = 160.0 m2



Ty
B

|
i
|
|
|
|
|
|
4

BEAENTIRSZ (T B (2 IR ETE
<1> = (0.677 +0.604)x 1/2x 10.426

BHOAF
160.0-6.7

6.7 m2

6.7 m2

153.3 m2



ERR

29.9
29.9
1.5
1.5

m2
m2
m2

m?2

ERIE
5000
= | |
B © @
AR
5000
= | |
i IO
TE
19927
o o
5| oA 2
19927
REH
<1 = 19.927 x 1.500
<2> = 19.927 x 1.500
<3 = 5.000 x 1.500
<4> = 5.000 x 1.500
HFREER

T oHh—5E1RE (¢ 150)
L = 047038

74.8

17.9

m2

m



3. EHEHt

nHLar o )—k  (18-8-40BB)

FHE
20127
1
o | |
< N
. ]
20127
M
5200
gl
=
REH
(1) = (20.127 + 20.127) X 1/2 X 5.200
22— AR
V1 = 104.660 x 0.100

mikiEZRR S

0.283 X 0.100 x 36

op
E'IE

10.47-1.02

104.660

10.47

m2

m3

10.47

1.02

m3

m3

1.02

9.5

m3

m3



Q¥Lary—~ B

FE
20127
R
S @—l' 5
L___________t_____
20127
RER
<1> 20.127 X 0.100
<2> 20.127 x 0.100
<3> 5.200 x 0.100
<4> 5.200 x 0.100

20
20
0.5
0.5

m2
m2
m2

m2

5.0

m2



4, Bi5T

M
200 . 500
jﬁ 20
i 100
. M
r‘J}
g | I |!
L
| |
L
&
21857
o \\\Ei::ZZiZZLiZZJZZZiZZLiZZJZZZiZZLi::ﬁ:::i::ii::ﬁ?i\\\
= e
° \— — = L— — — |
21857
Fizk3
21.857+3.783+21.857+3.783 = 51.280 m
15 T

51.280 x 4.500 = 230.8 #m2



5 T

1) HEHl
JEEI (5
Am?) |Aave(md)| V(m?)
4738
1.9 4738 47.80 90.8
1.5 36.3 42.05 63.1
17.7 36.3 36.30 6425
1.5 36.3 36.30 54.5
4738
3.6 0.0 23.90 86.0
= 936.9 936.9
2) BRL
BERE (/)
Am?) | Aave(md)| V(m?)
374
2.2 374 37.40 82.3
25.2
12.3 23.8 24.50 301.4
7.7 25.5 24.65 189.8
37.8
0.5 3738 37.80 18.9
3.6 0.0 18.90 68.0
a&t 660.4 660.4
3) R¥L
A= 52 X 20.1 = 104.5 104.5

4) L E)EHE - A5

V= 9369 - (660.4/09)

2031 203.1
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Tl

R A=37.4m2
(BB PRI )

N

MIEE V580.4

MEIEME V580.4

T T (X
LA
R A=37.8m2
(B4R {81 )
= -

\EE A=25.2m2
(4F 1K ER)

MIEE V580.4

BERE A=25.5m2
(SRR ER)

— -y_/// N"V
: Z IR A=23.8m2
0
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6. RERTBHT

1) SRREAT
(O EARINS-SP-J) 18 &7Y)

5 NI EAEMm)
L=11.5m -
1 Bt 7 5.6
2 ML 18 1.7
3 ML 5 4.1
4 MEL 39 0.1
A&t 115
ER (m) 18.00
M 30
T 1P
2) HME=E
O & 1R
wE | | TN || TRE|IES *t’fi i
EmEA |NS-SP-J 1020 17 115 87.3 17,067
TR [NS-SP-J 7.80] 13 115 87.3 13,051
18.00| 30 30,119
Q@%&KRT
£ otk P E Y el et %
fE#2L | H-300x300x10x15 6.60 2 100.0 1,320| % E {8
FE#2L | H-300x300x10x15 8.40 2 100.0 1,680 |7 E Al
FE#2L | H-300x300x10x15 450 2 100.0 900| T it 8l
FE#2L | H-300x300x10x15 450 2 100.0 900| T it 8l
RERELET= 4,800
FEME= 4,800
BIERA(A) FEMEE x0.22= 1,056
EIER#(B) FEMEE x0.04= 192
XRIE= 6,048




3) RERT7h—

R HIFLE LB (m) vh—E|TUFV R #HEIFLE >LB=N-LB (m) 7 h—R|&TURVR(VSVNEAE| £FAE REHEE
& X5 N dB=135mm(ZEEAR) LA LS dB=135mm(ZEEAHRN) > LA=N-LA [ ZLS=N-LS Y >V=N-V R Td
(R) |[#et-mEt| BEL wiE &t (m) (m) [|#Mt-mEt| BEL RiE &t (m) (m) (m3) (m3) (kN/ZK)
1B 2 28.66 434 0.15 33.15 33.0 35.0 57.32 8.68 0.30 66.30 66.0 70.0 1518 3.036 K5-8 380.6
2E% B 2 24.30 420 0.15 28.65 28.5 305 48.60 8.40 0.30 57.30 57.0 61.0 1.312 2.624 K5-8 353.2
&= mE Al
1B 2 23.25 3.25 0.15 26.65 26.5 285 46.50 6.50 0.30 53.30 53.0 57.0 1.221 2.442 K5-4 380.6
2E% B 2 19.71 3.29 0.15 23.15 23.0 25.0 39.42 6.58 0.30 46.30 46.0 50.0 1.060 2.120 K5-4 353.2
Tl
XHSHREAR V=dB®X m1/4x LB X (1+K) K:#EEZRE(=2.2)
&5t 8 191.84 30.16 1.20 223.20 222.0 238.0 10.222




RE7oHh—(BREX) HENRE
(HmEf)

TUoh—RE5 1% B

T h—iR& K5-8

Toh—& L=33.0m

TUH—AE N=24

2 VST 4L HE &%

SO—RFURUK K5-SSU kg 414.864){(8 X 31.0m)+(8/2+1) X 4.0m} X 0.774kg/m X 2
it 457 4 D5-8 8 8|4fH/ A x 2K
Foh—~vEk K5-8V & 2|1/ A x 2K
IHE K5-W #H 16| S A Z X 2K
Foh—TL—k AP19-84-32N 54 2|14/ x 27K
BEEY a=35"_H &l 2| 1A/ x 27K

Toh—RE5n 2% 8

T h—RE K5-8

Toh—k L=28.5m

TUN—FRHE N=2Z

Z2L ] Hig =R iva HE k=1

SO—RFURUK K5-SSU kg 359.136]{(8 X 26.5m)+(8/2+1) X 4.0m} X 0.774kg/m X 2K
[IEERES D5-8 #A 8|4#H/ A X 24
ToHA—~YR K5-8V & 21 18l/ A& x 2K
JHE K5-W #8 16|84 A58 % 24
Foh—TL—k AP19-84-32N 54 2|14/ x 27K
BEEY =35 & 2| 118/ A& x 24




[T

TUoh—RE5 1% B

T h—iR& K5-4

Toh—k L=26.5m

TUH—AE N=24

2 VST 4L HE &%

SO—RFURUK K5-SSU kg 171.828/{(4 X 25.5m)+(4/2+1) X 3.0m} X 0.774kg/m X 2
it 457 4 D5-8 8 41240/ X 2K
Foh—~vEk K5-5V & 2|1/ A x 2K
IHE K5-W #H 8|S AZ X 2K
Foh—TL—k AP19-65-22N 54 2|14/ A& x 27K
BEEY a=45" H 18 2| 1{El/AR x 2K

Toh—RE5n 2% 8

T h—RE K5-4

Toh—k L=23.0m

TUN—FRHE N=2Z

Z2L ] Hig =R iva HE k=1

SO—RFURUK K5-SSU kg 150.156|{(4 x 22.0m)+(4/2+1) X 3.0m} X 0.774kg/m X 2
[IEERES D5-8 4 41288/ X 2K
Toh—~yk K5-5V & 2{AE/ A x 2K
IHE K5-W #H 8|S AE X 2K
Foh—TL—k AP19-65-22N 54 2|14/ x 27K
BEEY =45 & 2| 118/ A& x 24




3. BKERT

i}

3-1. ERBAIEKER

M.7avoia
R 35cm
Al s SL(m) SLave(m) LU(m) LL(m) Lave(m) Alm)
NO.0+55.21 2.46
NO.0+61.80 2.45 2.46 7.24 7.16 7.2 17.7
NO.0+69.88 2.44 2.45 8.08 8.08 8.1 19.8
NO.0+71.19 2.44 2.44 1.31 1.31 1.3 3.2
NO.0+88.06 242 2.43 17.72 17.63 17.7 43.0
& &t 34.35 34.18 83.7
(2).ZA#
RC40-0 K5y b
4
~ &
S A=0. 091m2
3081
V= 837 X 030 + 009 Xx 3435 + 0020 x 34.18 = 289 m®
QLEMT
30B I #
L= 34.18 = 342 m
(4).B#hT
t=10mm
HERT
<NO.0+55.21> Al= 246 Xx 035 + 0.10 1.0
<NO.0+61.80> A2= 245 Xx 035 + 0.10 1.0
<NO.0+71.19> A3= 244 x 035 + 0.10 1.0
Ad= 243 x 035 + 0.10 09
<NO.0+88.06> Ab= 242 x 035 + 0.10 09 2 A= 48 m?



3-2. EFAI/NSRyE

S £ R

T & HE-TiE B TRE | ERm BEE@E & F it

avyy—k 24-8-40BB | m’ 1.52 3.21 473

18-8-40BB | m’ 1404 | 1404
Py i m? 6.1 124 14.3 32.8
RIGELE 75 m 0.4 0.6 1.0
54 SD345 D13 kg 46 102 148
#Lavy)—k | 18-8-40BB | m’ 1.94 416 | 3006 | 36.16
#BLar sy —r B m’ 0.2 0.4 0.6
H it t=20mm m’ 1.8 1.6 3.4

t=10mm m’ 1.4 1.4
BR % B AL AR aVP)—RERA| m 1.6 42 5.8




& K FTiRAR

M.avy—k
24-8-40BB
ERE
al=( 1.487 +
a2=( 1.487 +
Vi=( 2.358 +
AR
a3=( 0500 +
v2=( 1588 +
&Rt
a4=(  1.300 +
Vv3=( 1.607 +
&t
v=0.71 + 0.23 + 0.58

1483 )/ 2 X%
1483 )/ 2 X%
2386 )/ 2 X

0340 )/ 2 x
1575 )/ 2 X

1.059 )/ 2 X
1.668 )/ 2 X

(2).304%
BIE
Al=
1]
A2=
HTEL
A3=( 1588
&Rt
A4= 1668 X

+

1575 )/ 2 X
0.300

A= 24 + 24 + 0.8

(3).ME R
¢® 75mm

-
1

0200 x 2

(4).8%
SD345 D13
W=

G.Laro—r
18-8-40BB
A=( 1.159 +

1.209 )/ 2 x(

1.588
1.607
0.300

0.350
0.147

0.300
0.354

0.500

1.607

0.5

+

2.358

2386 m

0.71

0.147 m
0.23 m

0.354 m
0.58 m

24

24

0.8

0.5

1.668

)/

2 X

152 m®

6.1 m?

04 m

46 kg

1.94 m?



(6).19Lavy) —rER
A= 1668 x 0.100

(.8 #th#t
t=20mm
TSR
Al= 1487 x 0300 + 0147 + 0.354
EiRAmmE
A2= 1483 x 0300 + 0147 + 0.354
it
A= 09 + 0.9

(8).553% 15 L At
avo)—rEA
L=( 1.588

+

1607 )/ 2



& & F EfAR

M.avy—k
24-8-40BB
ERE
al=( 1.127 +
a2=( 1.127 +
Vi=( 4507 +
AR
a3=( 0500 +
V2=( 4.167 +
&Rt
a4=( 1.100 +
V3=( 4.195 +
&t
V= 1.36 + 0.61 + 1.24

1.036 )/ 2 X
1.036 )/ 2 X
4537 )/ 2 X

0340 )/ 2 x
4163 )/ 2 %

0859 )/ 2 X
4270 )/ 2 X

(2).304%
BIE
Al=
1]
A2=
HTEL
A3=(  4.167
&Rt
Ad= 4270 X

+

4163 )/ 2 X
0.300

A= 45 + 45 + 21

(3).ME R
¢® 75mm

-
1

0200 x 3

(4).8%
SD345 D13
W=

G.Laro—r
18-8-40BB
A=( 0959 +

1.009 )/ 2 %(

4167
4195
0.300

0.350
0.147

0.300
0.294

0.500

4195

1.3

+

4.507

4537 m
136 m

0.147 m

0.61

0.294 m
1.24 m

4.5

4.5

2.1

1.3

4.270

)/

2 X

321 m*

12.4 m?

06 m

102 kg

416 m’



6).gLars) —rERe

A= 4270 x 0.100 = 04 m
(7). B th#t
t=20mm
TRl iR
Al= 1127 x 0300 + 0147 + 0294 = 08 m’
L AR B E
A2= 1036 X 0300 + 0147 + 0294 = 08 m’
&t
A= 08 + 08 = 16 m
(8).ER 3% B LE Hit
a9 —REA
L=( 4167 + 4195 )/ 2 = 42 m



QEDZDEN
18-8-40BB
TEE
all=( 1165 +
al2=( 0.924 +

Vi=( 6.351 +

a21=( 1.086 +
a22=( 0845 +
Vv2=( 9.171 +

a31=( 1185 +
a32=( 0944 +
V3=( 1559 +

ad1=( 1194 +
ad2=( 0953 +
V4=( 8598 +

ab1=( 1355 +
ab2=( 1114 +
V5=( 10550 +
SREHD
a6=( 0500 +
V6=( 5641 +
vi=( 8077 +
ve=( 1311  +
vo=( 6724 +
V10=( 6832 +
&t
V= 3 (V1~V10)

(2).B04%
EEE
Al=( 5641 +
A2=( 8077 +
A3=( 1311  +
Ad=( 6724 +
A5=( 6832 +
&t
A= 3 (A1~A5)

1.086
0.845
4.991

1.185
0.944
7.225

1.194
0.953
1.243

1.355
1.114
6.972

1.748
1.507
8.911

0.340
5.640
8.077
1.311
6.716
6.824

5.640
8.077
1.311
6.716
6.824

)/
)/
)/

)/
)/
)/

)/
)/
)/

)/
)/
)/

)/
)/
)/

)/
)/
)/
)/
)/
)/

)/
)/
)/
)/
)/

N

N N NN NN NMNDN
X X X X X X

N N N NN
X X X X X

5.641
5.641
0.300

8.077
8.077
0.300

1.311
1.311
0.300

6.724
6.724
0.300

6.832
6.832
0.300

0.350
0.147
0.147
0.147
0.147
0.147

0.500
0.500
0.500
0.500
0.500

5.645
5.645

8.077
8.077

1.311
1.311

6.768
6.768

6.768
6.768

)/
)/

)/
)/

)/
)/

)/
)/

)/
)/

N
1

6.351
4.991
1.70

9.171

7225 m

2.46

1.559 m
1.243 m

0.42

8.598 m
6.972 m

2.34

2

2

2

10.550 m?

8.911
292

0.147
0.83
1.19
0.19
0.99
1.00

28
4.0
0.7
3.4
3.4

3

3 3.3 3 3 3

1

3.3 3 3 3

w

N

w

w

w

404 m®

N

N

N

14.3 m?



@)BHLavy)—k
al1l=( 0924 +
al2=( 0974 +

A1=( 4.991 +

a21=( 0845 +
a22=( 0895 +
A2=( 7225 @+

a31=( 0944 +
a32=( 0994 +
A3=( 1243 +

ad1=( 0953 +
a42=( 1.003 +
Ad=( 6972 +

ab1=( 1.114  +
ab2=( 1.164 +
A5=( 8911  +
&t
A= 3 (A17A5)

(4).8 st
t=10mm
Al=( 1086 +
A2=( 1.185 +
A3=( 1355 +
&t
A= > (A1~A3)

0.845
0.895
5.273

0.944
0.994
7.629

0.953
1.003
1.309

1.114
1.164
7.309

1.507
1.557
9.251

0.845
0.944
1.114

)/
)/
)/

)/
)/
)/

)/
)/
)/

)/
)/
)/

)/
)/
)/

)/
)/
)/

2 X
2 X
2 X

5.641
5.641

8.077
8.077

1.311
1.311

6.724
6.724

6.832
6.832

0.300
0.300
0.300

+

+

+

5.645
5.645

8.077
8.077

1.311
1.311

6.768
6.768

6.768
6.768

0.147
0.147
0.147

)/
)/

)/
)/

)/
)/

)/
)/

)/
)/

4991 m?
5.273 m?
513 m?

7.225 m
7.629 m
743 m?

1.243 m?
1.309 m?
1.28 m?

6.972 m
7.309 m?
714 m?

8911 m
9.251 m?
9.08 m?

= 30.06 m?

0.4 m?
05 m?
05 m?

1.4 m?



-3 ARlllEKER

M.7avoia
R 35cm
=1 SL(m) SLave(m) LU(m) LL(m) Lave(m) Alm)
NO.0+56.92 2.46
NO.0+61.80 2.45 2.46 4.41 447 44 10.8
NO.0+69.88 2.44 2.45 8.08 8.08 8.1 19.8
NO.0+71.19 2.44 2.44 1.31 1.31 1.3 3.2
NO.0+82.25 242 2.43 10.50 10.56 10.5 255
& &t 24.30 24.42 59.3
(2).ZA#
RC40-0 5 Ry b
A=0.091m2
A=0.020m2
30BI
V=593 X 030 + 009 Xx 2430 + 0.020 x 2442 = 205 m®
QLEMT
30B1I #
L= 24.42 = 244 m
(4).B#hT
t=10mm
HERT
<NO.0+56.92> Al= 246 Xx 035 + 0.10 1.0
<NO.0+61.80> A2= 245 Xx 035 + 0.10 1.0
<NO.0+71.19> A3= 244 x 035 + 0.10 1.0
<NO.0+88.06> Ad= 242 x 035 + 0.10 09 2 A= 3.9 m?



3-4. HEAINSRYE

L
T & HE-TiE B TiRA Tim BERIE & F it

av4s)—k 24-8-40BB | m’ 0.87 2.75 3.62

18-8-40BB | m’ 8.94 8.94
g 2 m? 4.1 10.1 9.6 23.8
53] SD345 D13 | kg 26 87 113
#Lavy)—k | 18-8-40BB | m’ 0.91 392 | 1851 | 23.34
BLav oy —rER m’ 0.1 0.4 0.5
H it t=20mm m’ 1.4 1.2 2.6

t=10mm m? 1.0 1.0




® 5 FTiRAR

QEDZDENS
24-8-40BB
BXEE
al=( 1.367 + 1.363
a2=(  1.367 + 1.363
Vi=( 1503 + 1.398
AT
a3=( 0500 + 0.340
v2=( 1.101 + 1.104
#at
a4=( 1100 + 0.859
V3=( 1.024 + 0817
it
V= 044 + 0.16

(2).304%
BIE
Al=
1]
A2=
HTEL
A3=(  1.101
&Rt
A4= 0817 x 0.300
LR AlmmE
A5= 1363 x 0310
Ei
A= 15  + 14

+

1.104

(3).8% A
SD345 D13
W=

@x¥Laro—r
18-8-40BB
A=( 0959 + 1.009

G).Larv o) — R
A= 0817 x 0.100

)/ 2 X
)/ 2 X
)/ 2 X

)/ 2 X
)/ 2 X

)/ 2 X
)/ 2 X

+ 027

)Y 2 X

)/ 2 %x(

1.101
1.024
0.300

0.350
0.147

0.300
0.294

0.500

1.024

0.2

+

1.503

1.398 m
0.44 m

0.147 m
0.16 m

0.294 m
0.27 m

1.5

14

0.6

0.2

0.4

0.817

)/

2

087 m*

41 m?

26 kg

091 m?

0.1 m?



(6). B H#u#t
t=20mm
TSR
Al= 1367
EiRAmmE
A2= 0.147
&t

A= 09

X

+

0.300

0.294

0.5

+

X

0.147

1.136

+

/

0.294

1.100

1.4 m?



L =P N ubiink- i

Mavyy—k
24-8-40BB
B2
al=( 0871 + 0857
a2=( 0871 + 0857
Vi=( 3348 + 3387
HITEL
a3=( 0500 + 0340
V2=( 3875 + 3880
&t
a4=( 1100 + 0859
V3=( 3920 + 4038
&t
V= 101+ 057

(2).304%
BIE
Al=
1]
A2=
HTEL
A3=( 3875
&Rt
A4= 4038 x 0.300
TR AlimE
A5= 0871 x 0.304
Ei
A= 33 + 34

+

3.880

(3).8% A
SD345 D13
W=

@H.¥HLary)—k
18-8-40BB
A=( 0959 + 1.009

G).Larv o) — R
A= 4038 x 0.100

)/ 2 X
)/ 2 X
)/ 2 X

)/ 2 X
)/ 2 X

)/ 2 X
)/ 2 X

)Y 2 X

)/ 2 %x(

3.875
3.920
0.300

0.350
0.147

0.300
0.294

0.500

3.920

1.2

+

3.348

3.387 m

1.01

0.147 m
057 m

0.294 m
117 m

3.3

3.4

1.9

1.2

0.3

4.038

0.3

)/

2

275 m*

10.1 m?

87 kg

392 m*

0.4 m?



(6). B H#u#t
t=20mm
TSR
Al= 0.147
EiRAmmE
A2= 0.857
&t

A= 05

+

X

0.294

0.300

0.7

X

+

1.116

0.147

/

+

1.100

0.294

1.2 m



Mavyy—k
18-8-40BB
T &
all=( 1123 +
al2=( 0882 +

Vi=( 3934 +

a21=( 1194 +
a22=( 0953 +
V2=( 9725 +

a31=( 1214 +
a32=( 0973 +

V3=( 1590 +

ad1=( 1.211 +

a42=( 0970 +
Va=( 7423 +
AEER

ab=( 0500 +
V5=( 3.280 +
V6=( 8.077 +
V7=( 1.311 +
V8=( 6.595 +
Hi
V= = (V1~V8)

(2).B04%
EEE
Al=( 3280 +
A2=( 8077 +
A3=( 1311+
A4=( 6595 +
&t
A

> (A1~A4)

1.194
0.953
3.116

1.214
0.973
1.778

1.211
0.970
1.274

1.082
0.841
5.863

0.340
3.288
8.077
1.311
6.587

3.288
8.077
1.311
6.587

)/
)/

)/
)/
)/

)/

)/

)/
)/
)/

)/
)/
)/
)/
)/

)/
)/
)/
)/

N

N N NN NN DN
X X X X X

N N N DN
X X X X

3.280
3.280
0.300

8.077
8.077
0.300

1.311
1.311
0.300

6.587
6.587
0.300

0.350
0.147
0.147
0.147
0.147

0.500
0.500
0.500
0.500

3.512
3.512

8.077
8.077

1.311
1.311

6.362
6.362

)/
)/

)/
)/

)/
)/

)/
)/

3.934 m?
3.116 m?

1.06 m°

9.725
1.778
2.63

1.590
1.274
0.43

7.423
5.863
1.99

0.147
0.48
1.19
0.19
0.97

1.6
4.0
0.7
3.3

3 3 3 3

N

N

N

9.6 m?



@)BHLavy)—k
al1l=( 0882 +
al2=( 0932 +

A1=( 3116 +

a21=( 0953 +
a22=( 1.003 +
A2=( 7778 +

a31=( 0973 +
a32=( 1.023 +
A3=( 1274 +

ad41=( 0970 +
a42=( 1020 +
A4=( 5863 +
it
A= Z (A1~A4)

(4).8 st
t=10mm
Al=( 1.194 +
A2=( 1214 +
it
A= 2 (A1~A2)

0.953
1.003
3.286

0.973
1.023
8.182

0.970
1.020
1.339

0.841
0.891
6.186

0.953
0.973

)/
)/
)/

)/

)/

)/

)/

)/

)/

)/
)/

)/
)/

2 X
2 X

3.280
3.280

8.077
8.077

1.311
1.311

6.587
6.587

0.300
0.300

+

+

3.512
3.512

8.077
8.077

1.311
1.311

6.362
6.362

0.147
0.147

)/
)/

)/
)/

)/
)/

)/
)/

3.116 m?
3.286 m?
320 m®

7.778 m?
8.182 m?
798 m®

1.274 m?
1.339 m?
131 m°

5.863 m?
6.186 m?
6.02 m®

= 1851 m°

05 m?
05 m?

1.0 m?



3-5. AFAI LB

L
T i HE~TiE B | FHRA| ERim | & &
avy)—k 18-8-40BB m’ 1.05 0.90 1.95
g 2 m? 6.1 5.1 11.2
H #h#t t=20mm m’ 1.4 1.4 2.8




® 5 FTiRAR

M.arvy)—k
18—-8-40BB
al=( 1.364

a2=(  1.363

v=( 3.497

(2). 3%
Al=
A2= 3516
A3=( 1561
A= 35

(3).Bth#t
t=20mm
A= 141

O 45 F LiREs

M.avy)—k
18-8-40BB
al=( 0.871

a2=(  0.870

v=( 3.012

(2).B04%
Al=
A2=  2.995
A3=(  1.566
A= 30

(3).Bth#t
t=20mm
A= 1.36

1.561

1.560

3.516

1.41

1.560
21

1.566

1.565

2.995

1.36
1.565
1.6

)Y 2 X
1.561 X
)Y 2 X
1.560 X
)Y 2 X
)Y 2 X
+ 05
)Y 2 X
1.566 X
)Y 2 X
1.565 X
)Y 2 X
)Y 2 X
+ 0.5

1.846
0.511
1.860
0.511
0.300

0.307

1.815
0.511
1.803
0.511
0.300

0.307

3.497

3.516

3.9
2.1

05 m

3.012

2.995

3.0

16 m
05 m

1.05 m®

6.1 m

1.4 m

0.90 m®

51 m?

14 m?



3-6. BKERET

OEHRK
T & R E B EE i & & 1%
avyl)—k 18-8-40BB m° 17.30 12.40 29.70
iy e m’ 54.7 39.10 93.8
EEH RC40-0 m 13.2 9.40 226
s Vup 75 m 35.20 25.10 60.3
¥
Mavy)—k
18-8-40BB
( 1.33%0.2 + 0.8%0.3 ) 34.178 = 17.3 m
()28
( 08+08 ) x 34178 = 54.7 m
(3). ELHE#4
RC40-0
( 143%x02 + 05%02 ) X 34.178 = 13.2 m
AMIEEE
Vuo 75
1.03 x 34.178 = 35.2 m

(Im&t=y)




L Z=1-2
M.ary)—k

18-8-40BB
( 1.33%0.2

(2) B

( 08+08 )

(3). E B H
RC40-0

+ 0.8%03 )

24.414

( 1.43%0.2 + 0.5%0.2 ) X

(HIEEE
Vup 75
1.03 X
(Im&7=Y)

L LZELE

24.414

24.414

24.414

12.4 m

39.1 m

94 m

25.1 m

(Im=7=Y)

Y

MG~ IR

B fif

=

y=

=

avol)—k

18-8-40BB

0.506

B

3’\7

1.6

EREM

RC40-0

0.39

BEE

Vug 75

3 |3,

1.03




4 BB TEEEL

4-1. BEETHT

b T ] (3 52)
0.14%.75 ¥ OA1-A2%E
1 BEWIE (B
BABBRT =
|G A=2. 2m2
=Y
3 el
| 66

2. 60
MXARME L=3. Om

BEHEAARIIE = 860m

SR BRI E R (HE )

200

‘a 750
768 -

|/

IZ]O 10 332 2p 332
114 0

356
400
© 0
©0
356

N = 11 &£/488



MBEs Al-A2HE
davy)—k
ffaEE (§%#%5Co) 060 X 030 x 860 = 155 |m®
¥EEE ($%#57Co) ( 105 + 106 ) x 1/2 x 040 8.60 = 363 m’
( 106 + 096 ) 1/2 0.10 8.60 = 087 m’
| 450 |m?
EXBE (#Ef%Co) ( 096 + 166 ) x 1/2 x 304 X 860 = | 3425 |m®
JERR (£EFHCo) ( 166 + 258 ) 1/2 x 050 8.60 = 912 m
( 258 + 260 ) 1/2 x 080 8.60 = 1782 m’
26.94 |m®
BEfmT
A5 Co 22 X 860 =| 1892 |m®
% MCo 13 x 860 =| 1118 |m®
EAHCost 3425 + 2694 + 1892 = 80.1 |m%/%&
$EARCost 155 + 450 + 11.18 = 172 |m/&
Cost 973 [mP/&
Q@i #+
B3| #MiE AN BREEl 28
1 PL | 750 * 22 % 200 26 26
1 PL | 750 * 22 % 150 19 19
1 PL | 750 * 22 % 400 52 52
3 PL | 143 * 22 % 356 9 27
gt 124
>11 gt 1364|kg/48 8




4-2. HERTEHL

B (HEE)
0, 30
0 X A1-A2&E
s 2
o 1o
|
d o
o S 3
* S|
-
Ta)
[Ke)
Sio
[eo]
o
2.35
BHEAARIE = 265m

MiEE -A1-A2%8

®avyy—+

ffE (§% 85 Co) 055 X 030 x 265 = ms

1B (8%F57Co) ( 100 + 100 ) Xx 1/2 x 050 X 265
( 100 + 085 ) x 1/2 x 015 X 265

oo
o =
w W
~N W
3 3
w w

ERBE(SEMCo) (085 + 145 ) X 1/2 X 294 x 265 = 896 |m®
JEEhR (#EFHCo) ( 145 + 235 ) x 1/2 x 050 X 265 = 252 m’

( 235 + 235 ) x 1/2 x 080 X 265 = 4.98 m3
EAFCost 896 + 7150 = 165 |m®/&
$E AR Cost 044 + 170 = 21 |m¥/#

Coit 186 |m®/&




4-3. =T

MEFELTT

@EEl
WrEE
V=360 X ( 3.3 X 05 + 96 )
+ 308 x ( 56 + 3.3 x 05 )

[_ezma]m

BRER BB 2R

-v= - 973 + 186 )

[ -t

512.4 |m®

op
E;E
i

QR
W E TR
V= 243 x ( 1.7 % 05 + 9.6 )
+ 193 x ( 56+ 17x 05 ) = 378.4 |m°

QL whEd - an 5>
V=5124 - ( 3784 / 09 ) =1 920 |n®
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HEBEEE
I A=36. 0m2

SEREEH

#EAI A=30. 8m2

MmIE®E V580.4

HER A=24.3m2 \ HE A=19.3m2
|
TEE
[N
| | &
_65_| Sl
ol =
Lo -
ITK L3
i

=1 0 =—A=80.000

NO. 40+5.

9.6m |

1.7m
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HEHITE 3. 3m




@QFFELT

@Al
WrE A
V=298 x ( 3.2 X 05 + 96 )
+ 242 x ( 54 + 32 x 05 )

e

BEERIE & 2hR
-V=~( 973 + 186 )

[ -t

387.3 |m®

op
E;E
I

QER
HRE TR
V= 188 x ( 1.7 % 05 + 9.6 )
+ 137 x ( 54+ 17x 05) = 282.1 |m®

QL whEd - an 5>
V=123873 - ( 2821/ 09 ) =1 739 |n®
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4-4. B Ly

Conx
HEE

e PL i

E53:]
HEfE
e PL i

80.1

96.6

17.2

19.3

16.5

2.35

2.1

2.50

80.1
16.5

96.6

2210

17.2
2.1

19.3

48.3




5. =T

5-1. 7 =148

(1).AsEriZ hir ] i T

t=15cmBlF
L= 1.7 +

(2) AsERZE MR T

HE t=10cm (#3E)

A=

S8 t=3cm (3 E)

A= 176 +

Q).ftRESRBET

2.1

175

HA—KL—JL(Gr-C-2B)

L= 5.5 +

SHEEER T OvY (100x100)

L= 129 +

(4 BEYMIERLT

BEBEY

SKkER2)
V= 1470

HEEEY

LEYEEE(1)
Vi= 0780

LEIHEER(2)
V2= 0.263

V= 43

A (R
BkERT)
A= 257
V= 182

X (

2.6

143

5.1

55

26

42

71
0.35

345

13.5

13.5

13.5

441 Im

[iois ]

351 |m?
216 |m
27.2 m
273 |m®
43 m®
42 m®
85 |[m®
182 |m?

6.4 m




(5).7% E - A 53

AsiX
Vi= 1013 X
V2= 35.1 X

v= 101 +

W= 112 X

¢ B

EKER©2)
EKER0)
V= 03 +

W= 340 X

£S5 3]
LEBERE(T)
LEBERE(2)

V= 43 +

W= 8.5 X

>ELOEER I OvY (100x100)  Vi=

0.10
0.03
1.1

2.35

272 x 0.010
V2=
V3=

2713 + 6.4

2.35
Vi=
V2=
42
2.50

10.1 m
11 m
112 |m®
263 |t
03 m’
273 m°
6.4

| 340 |’

799 |t
43 m®
42 m®
8.5 m®

213 |t




5-2. HEMA

(1. AsEHE R YIBT T

t=15cmBlF
L=

(2). AsTHEE IR BRI R T

BH3E t=5cm (#E)
A=

Q). EESRBET

Bn& D5 LR (CodZaA)
L= 30 + 20 + 69

(4 EEYERLT

BEBEY

BT HUEME(B300)
Vi= 0196 x 35

=KkERQ2)
V2= 1470 x( 52 + 69

V= 0.7 + 17.8

BSEEED

BT HUE M7 (B300)
Vi= 0044 x 35

LEYEEE(1)
V2= 0663 x( 37 + 24

LEIHEER(2)
V3= 0188 x 6.9

v= 02 + 4.0 + 1.3

atE (&%)
=KEREQ)
A= 268 x 35
V= 94 x 035

3.1 m

=[ 080 ]

=] 119 [m
= 0.7 m®
= 178 m’
=| 185 [m°
= 0.2 m®
= 40 m
= 13 m’
=] 55 |[n®

94 |[m?




(5).7% E - A 53

AsF%
V= 1086 x 005 =| 54
W= 54 x 235 =| 127
Cos%
&
HATFTHUEMAIE(B300) Vi= 0.7
EKEF©2) V2= 17.8
EKER0) V3= 3.3
v= 07 + 178 + 33 =] 218 |
W= 218 x 235 =| 512
£S5 3]
BATTH UEMAIE(B300) Vi= 0.2
LEIBERE(1) V2= 40
LEIBERE(2) V3= 1.3

V= 02 + 40 + 13 ~[5s5 ]

W= 5.5 X 2.50 = 13.8
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EIVY—FEI-RFBUIT HEFHE

6. TETHECHEER

1). &+
METEE
miE
Ex
vi= 260 x( 420
v2= 100 x 170
v3=( 100 + 00 )/ 2 X 150
(2). AR
miE
v3=( 00 + 166 )/ 2 x 100
vi=( 166 + 00 )/ 2 X 250
>SV= 12850 + 290.5
2). RKBEt+D5
(0. L4
1B 2858 3EXH
EE EE EE
N= 60 + 110 + 180
(2). il
1 H 2858 3ERH
EE EE EE
N= 30 + 80 + 130
(3). AR
1% H 285 H 3% H
TR EE EE
N= 260 + 270 + 340
>N= 350 + 240 + 87.0
3). IHEKE (FARUVE ¢ 1200)
EE R#
L= 450 x 3
4) TEEET
REFEER 8SHMHE x 25H x 1A

ER
=)
+ 380 )/2

Vi

V2

1040.0
170.0
75.0
1285.0

83.0
207.5
290.5

1575.5

35.0

240

870

146.0

135.0

200.0

1575.5 |m

146 &

[iss0 I

2000 |A




fTHT

ERWET #= HP FEUE 800 mm
TYPE
I & M Al +T e e . # = &R
R—IL
ERER HP 800 19.10 19.10 19.1 m
BELT
CoRiELT 1.939 1.939 1.93m
Conk B it 3.679 1.939 5.618 5.61m
CoBgA s T B 2.5 tf/md 9.197 4. 848 14.05 14.0 t




BRE e M ETLTQ HER
& BHRrL Y
HMES wEs

I & i Al 2-5MH 50 (B) (A*B)
ANFLIEE 2 B ok—IL 1 1 1 &P
ANFLERE RZ 60 cm T-14 1 1 148

avy)—FkrIELTEL)

RELE RES 25 nmmE T 0.020 0.02| 0.245nri/m| 0.005m3
REE) Y 10 cm 2 2| 0.025m3 0.05 m3
i 60 x 120 45 cm 25 1 11 0.144m3 0.144 m3
=R 25 60 cm 120 cm 1 1| 0.245m3 0. 245 m3
BEIJOvy 25 210 cm 120 cm 1 1 0. 859 m3 0. 859 m3
JEhR 25 54E 1450 mm 1 1| 0.248 m3 0.248 m3
JEE T 25 R 1200 mm 1 11 0.388m3 0. 388 m3
it avy ) —rEUELEE 1.939 m3
B ERE ®800(HP) 1.170 t/A&A 2.43 m/&X
CoER Y iE L d= 2.5 tf/m3 19.10 19.10] 0.1926 m3/m| 3.679 m3
CotB AL 4> 19.10 19.10] 0.4815t/m | 9.197 t




KERBREHE

TEITHE KEE L kg/m
205 123 &Y 252 t
EFHEE V = 7.416 X 14+ 2 x 02 X 08 x 09 - 05 x 02 x 28
= 10.4392
EiER OV = 192 x 0.13
= 0.2496
WmEE Vv = 10.4392 - 0.25
= 10.2 m3
AEREE V = 7.723 x 12 + 05 X 3 X 22 - 05 %X 02 x 3
= 12.2676
EiER OV = 409 x 0.13
= 0.5317
WmixiE Vv = 12.2676 - 0.532
= 11.7 m3
POER  m3 = 102 + 117
= 21.9
NrE t = 219 X 25
= 54.8
A95vF
L = 205 + 4.09
= 24.59
t 2459 X 123/ 1000

3.0




